
ASSEMBLY INSTRUCTION

SPRINGDALE WRITING DESK



1

2 Tighten screws "G" and "H" by 20%

B

B
C

E

G

E

I

J
H

•Putta eller dra inte i möbeln vid förflyttning – lyft alltid i bärande delar.
•When moving the furniture, never pull or push, remember to always lift.

•Montera möbeln på en ren matta för att skydda mot smuts, märken och repor.
•Assemble the furniture on a clean carpet as protection against dirt, dent marks and scratches.

ATTENTION!

2 (4)

M8x25

M6x12

M6x12

Ax1

B

Cx1

Fx16

Gx2

Hx2

Ix2

Jx2

Kx16

1 x1

B 2 x1

M4x16

Lx1

Mx2

Nx1

M5

Dx1
Ø12 x Ø4x1.5

Ø16 x Ø6x1.5

Ø11 x Ø6x2

Ø17 x Ø8x1.5

20 x 1.5x200

M4

Ex1



3 Tighten screws "F" by 100%

4 Tighten screws "G" and "H" by 100%

D

K
F

G

E

A

E H

5

3 (4)

LM

N



6

ENGLISH SVENSKA SUOMI DEUTSCH

WARNING VARNING 
VAROITUS 

ACHTUNG 

Screw(s) and plug(s) for wall attachment are not included.
Use screw(s) and plug(s) suitable for your walls. 

Skruv och plugg för fastsättning på vägg är inte inkluderat.
Använd skruv och plugg anpassade efter väggmaterial.

4 (4)

H


